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#include<stdio. h>
#tdefine N 10

int a[N] = {24, 85,90, 55, 28, 35, 47, 15, 35, 60} ;

void selection(int p, int q, int k)

{ int i, j,s,w;

if (q—p < 1) return;
i=p; j=q; s=alp];
while (i <= j) {
for (5 ali]l < s; it4);

for G aljl > s; )5

if (i<=3J) |
w = alil; ali] = aljl; alj] = w;
i+
}
}
if (k <= j) selection(p, j, k)
else selection(i, q, k) ;
}
main ()
{ int i,k=4;

for (i=0; i<=N-1; i++) printf("%d=%d 7, 1i,alil);
printf ("<-input¥n¥n”) ;

selection (0, N-1, k) ;

for (i=0; i<=N-1; i++) printf("%d=%d 7, 1i,alil);
printf ("<-final¥n¥n”);

printf ("%d-th data is %d¥n”, k, alk]);



